Introduccion a los Algoritmos

Operadores de Lista

longitud
#:[A] = Int
#l =0
#xv>xs) = 1+ #uxs
head (cabeza)
head : [A] — A
head.(x>xs) = x
tail (cola)
tail : [A] — [A]
tail. (x> xs) = xs
concatenar
(+) : [A] = [A] = [4]
[J+ys = ys
(z>zxs)Hys = x> (zsH ys)

pegar por la derecha

(<) : [A] = A = [4]

[J<ay = yo[]
(x>axs)aqy = zp>(xs<4y)
indice
M:[A]—>Int— A
(xpxs)!0 = z
(z>pzxs)! (n+1) = zs!n
tomar

1) : [A] = Int — [A]

xsT0 = []

[(Itn = T[]
(z>zs)t(n+1) = z>(xsTn)

tirar
() : [A] = Int — [A]
sl 0 = zs
[J4n =[]
(zpxs)l(n+1) = zsin

sum : [Num] — Num

sum.[] = 0

sum.(z>xs) = x4+ sum.xs

Funciones “tabu”

o map : (A — B) — [A] — [B]

map.f.[] = []
map.f.(x>xs) = fa>map.f.xs
Ejemplo: duplica = map.((*).2)

filter
filter : (A — Bool) — [A] — [4]

filter.p.[] = []
filter.p.(x>xs) = (p.x — x> filter.p.xs
O —p.x — filter.p.xs

)

Ejemplo: soloPares = filter.esMultiplo2

foldl
foldl: (A— B —A) - A—[B|— A

foldl. f.z.[]
foldl.f.z.(x>axs) = foldl.f.(f.z.x).xs

z

Ejemplos: sum = foldl.(+).0
rev = foldl.(<).[]



